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1. Which of the following are 'the féatures of the

unique sculpture in the temple of Ranakpur?

(A) The weak figures of women have been
depicted here with priority.

(B) Demonstration of various postures in female
statues through fine carving.

(C) Exquisite floral motifs, a hallmark of
Gujarati art and tradition.

(D) There are no depictions of weapons in the
statues here.

Select the correct answer -

(1) (A), (C)and (D) (2) (A), (B) and (D)

() (A),(B)and (C) (4 (B), (C) and (D)

(5) Question not attempted

- Who among the following ‘Lok Devta’ is called

‘Avatar of Lakshmanji’?

(1) Pabuji (2) Gogaji

(3) Ramdeviji (4) Hadbuji

(5) Question not attempted

- In which Fort the highest part was used for Royal
palace, the lowest part for reservoirs and the flat
part was kept safe for agriculture?

(1) Nagaur Fort (2) Jaisalmer Fort

(3) Gagron Fort (4) Kumbhalgarh Fort
(5) Question not attempted

- Which statements are not correct in the context

of Govindgiri and his Bhagat Movement?

(A) Govindgiri participated in the
Non-Cooperation Movement in

. Panchmabhal district during 1921-22.

(B)  After his release from Ahmedabad
Central Prison, Govindgiri remained in
exile at Barsod in Panchmahal till death.

(C)  Under the influence of Govindgiri,
Bhagat Bhils of Banswara organised
themselves within the framework of
Hinduism. :

(D)  N. Bhattacharya the Gooja’ of Banswara
suppressed Bhagat Movement during
1927-1931.

Select the correct answer -

(1) (B) and (D) (2) (C)and (D)

(3) (A) and (B) (4) (A)and (C)

(5) Question not attempted

TRUNT & Y84 B |

(D) Tl BT Ul § ST—IS $T 3idh- 8]
2|

el SR BT T DT —

(1) (A),(©3RD) (@ (A),(B)3IR (D)

(3 (A),(B)3IR(C) (4 (B),(C)3iR (D)

(5) Srg<iRa ue

- f=fafad # 9 f69 ‘diecdar &1 ‘FEAureh

BT AAR’ BT ST 27

(1) grqsh (2) TMrTTsh
(3) mQaEsil @) sl
(5) srgaiRa U

- (&9 el § 999 S WRT BT YANT SIUTETE,

Ha¥ e AT BT TR 3R AT HET B
el & fore gRfg @ e

(1) AR &1 e (2) SePR &1 fben
(3) TRIA BT fbenr () FWerTE & fhen
(5) SrxIRe U=

- MR 3R S9a Wig iele @ Hed #

DITH HAT Fel T8l 87

(A) 1921-22 # vYgHea e # Mfdefd 3
AT 3fieTes | 9r7 foram |

(B) ¥EHEEIE Huld PRAE ¥ Bed & 91§
391 J P MGGRN Gared © qRdg
H fyatea § <2

(C) TS © UIg ¥ gigarsT & 99 Al
9 Wd @ g vW B g § Eafdd aR
foram |

(D) 1927 & 1931 © #=g didgdrs] & <laM
U, YEMER A 99 STela bl Sa7aT |

4 HEl IR BT TIF BTG —

(1) (B) 3iR (D)
(3) (A) 3R (B)
(5) 3rg<iRe ue

(2 (C) 3R (D)
4 (A)3R(©)
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- In the inscriptions of the Pratihars, the state
officials were called -

(1) Rajpurusha (2) Samant

(3) Darbari (4) Mantri

(5) Question not attempted

- Which of the following villages were granted for
the management and worship of Eklingji by
Maharana Kumbha?

(1) Anand, Kavita, Gogunda & Mavli

(2) Ahar, Kalyanpur, Jagat & Kankroli

(3) Nagda, Kaloda, Malakheda & Bhimana

(4) Nadol, Dhulev, Ranakpur & Naulai

(5) Question not attempted

- Which of the following facts about Lucknow, in

the first War of Independence of 1857, is false?

(1) It started in Lucknow on 30" May 1857.

(2) The defeated British took refuge in Begum
Hazrat Mahal’s palace for self defence.

(3) The British were defeated in the Battle of
Chinhat on 30" June 1857.

(4) Birjis Qadr was declared the ‘Wali of
Lucknow’ in the early August 1857.

(5) Question not attempted

- During the reign of which Sultan of Delhi

Sultanate, Govindraj of Ajmer established

himself at Ranthambore?

(1) Balban (2) Nasiruddin
Mahmud

(3) Qutubuddin Aibak (4) Iltutmish

(5) Question not attempted

- Which states were removed from the Rajputana

Agency and placed under Gujarat Agency in

February 1948?

(A) Palanpur

(B) Dungarpur

(C) Sirohi

(D) Vijaynagar

Select the correct answer -

(1) (A),(B)and (C) (2) (A),(C) and (D)

~ (3) (A)and (B) (4) (B), (C) and (D)

(5) Question not attempted

- URERT @ Affiel H, ISuiReiRal B HEl

ST o —

(1) vSigey ) amHa
(3) exar (4) ==

(5) 3rgxifa ue '

S R O O 1 o A < A A

g o

(1) g, Bfdar, Tg=T R Al
(2) 3MES, HMIYR, ST 3R Dbl
(3) AANTRT, HIcirsT, ATARIST 3R HHMET
(4) TSI, goid, WHYR AR Arers
(5) IR Uz '

- 1857 @ YA WA WM H, T@TS B AT

# fo= aeal # 9§ P9 e 77

(1) g% ¥ sH@] YHIMd 30 7S 1857 BT &8 |

(2) wxifora ool 1 o v & forg SH
oI H8dl & oiHedl § IR o |

(3) 30 S 1857 &1 forise & g H UG
oRIfoTd 8¢ o |

@) o< 1857 @ URM A fRfS &g @1
TRITS,; BT acil’ GING fdhar 7T o7 |

(5) SrgRa U

feeell Hoad & P9 ga= & &1 & SR

IR & TGRSl 7 W@ BT IR 7 wefid

foar?

(1) gete= (2) e HEYE
(3) FIIEH TEH (4) seqgafae
(5) IrgeiRe U

- PR 1948 F {1 RISl Bl IS T

BCTHR ORI Qoi=il & 3faviq v faam e
(A) 9T TgR

(B) YT

(C) RRIE

(D) fasg =
HEI TR Yy —
(1) (A), (B) 3R (C)
(3) (A) 3R (B)

(5) 3rF<IRA T

(2) (A), (C) 3R (D)
(@) (B), (C) 3R (D)
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10. Select the incorrect statement with reference to
Gupta’s architecture -
(1) The roof of the Vishnu temple of Eran is flat.

(2) The Dashavatara temple at Deogarh presents

the ornate Gupta style architecture w1th a
high Shikhara.

(3) The Parvati temple of Nachna Kuthara is
built in Chaitya style.

(4) The Bhumra temple is dedicated to Lord
Vishnu.

(5) Question not attempted
11. Raja Man Singh as the Subedar of Bihar led his
first expedition against which ruler of Blhar"
(1) Raja Puranmal of Gidhaur
(2) Sangram Singh of Khadagpur
(3) Sayyids of Shambhupuri
(4) Raja Ganpat of Hazipur
(5) Question not attempted

12. Who is the author of the book named ‘Unhappy
India’? , '
(1) Lala Lajpat Rai (2) J.L. Nehru
(3) L. Fisher (4) M. Brecher
(5) Question not attempted

13. Which political agent’s slit head was hung on the
Fort of Auwa by the rebels of 1857?

(1) Major Showers (2) Major Burton

(3) Capt. Monck Mason (4) Col. Eden
(5) Question not attempted
14. Which among the following archaelogical sites

1s not related to ‘Ahar Culture’?
(1) Pind (2) Baror

(3) Alod (4) Gilund
(5) Question not attempted
15. Which text among the following is not written by
Dr. Ambedkar? :
(1) The Nadars of Tamilnad
(2) Revolution and Counter Revolution in
Ancient India : ' |
(3) The Annihilation of Caste
(4) The Buddha and His Dhamma
(5) Question not attempted

10. 77 g & Hed H Tad HUA @I
gfT —
(1) W & a9y wfeR @ Ba wuE 2|
) 39Tg H TEAR W $U B & 9
el W el DI ARIDAT DI ST 2 |
(3) =T |{OR BT Urdl AR AT el TR I .
2 |
(4) ¥ERT AR e fawy o1 FHidT 2|
(5) 3gilRa wed
1. [8R & IaR & ®Y | o7 719 Rig 7 91
Yo AT f9ER @ fhdg s & faeg fehar?

(1) IR & o TF9a
(2) TR B WU Ris
(3) TS @ dae )
(4) BOIYR & TS T90d
(5) srgaRa we
12. Rl SR THE [ D owd B
g?

(1) ofrelm drofad I (2) SIUel. 8%
(3) Tal. fherR 4) um. aﬁa?
(5) SrgxiRa e

13. ISSTE%WWWQT%@WWEBT
el RR rsar & e R dear fear ar or?

(1) #oR fad (2) AR g2
(3) ded Ale 7T (4) P s
(5) Irg=iRa e

14. for=rfeiRaa # 9 Biaen Rakad e 3TEsS
HEpla’ ¥ AR T8 87

(1) fus 2 w=Rr
(3) g (@) firge
(5) Irg<iRT wed

15. f=faRaa § & d=ar ¥y € aﬁwm
T8} forar mam 8?
(1) T 97 3% afferrs

(2) RaregE g8 FEer Ralyes g7 wifdge
sfean

(3) T UIfgerer i drRe
4 T 95 s fow u™
(5). 3rg=iRa Uz

OA - %
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18- If x = 7440, then absolute value of%[\/_—% e e x=7+/40 81, @ %[\/_—% &1 fAvuer
is - A4 & —
M) 2 2 245 M v2 2 2v5
(3 2 4 5 3 2 4) 5
(5) Question not attempted (8) argeiRa e

17. A white coloured cube is painted red on all its  17- U% GWHg [T & O &I G4 Fdal ®I &l 9T
surfaces. Now it is cut into 125 smaller cubes of far Sirar &1 919 $9 GHH PR $ 125 BT
the same size. How many cubes will have two g4l H Brer o1 & | fHas =991 &1 <1 Hag ard
faces painted red? 77 Pl B?
(1) 24 - (1) 24
(2) 48 (2) 48
(3) 12 (3) 12
(4) 36 (4) 36
(5) Question not attempted (8) IrgaiRa u=H

18. In a certain code language ‘GERMINATION’ 18. gfg ts fARe=a @ wmr ¥,
is coded as ‘IMGRENNOAIT’ and ‘GERMINATION’ @I ‘IMGRENNOAIT’ g2
‘ESTABLISHED’ is coded as ‘“ESTABLISHED’ ®! ‘BAETSLDEIHS’ #
‘BAETSLDEIHS’ then in the same code forar <raT & @ ‘MATHEMATICS® 37 99
language ‘MATHEMATICS’ is coded as - e T ¥ forar wRATT —
(1) EHTMAMSCAIT (2) EHMTAMSCTIA (1) EHTMAMSCAIT (2) EHMTAMSCTIA
(3)_EHMTAMSCAIT (4) EHMTAMSCIAT (3) EHMTAMSCAIT (4) EHMTAMSCIAT
(5) Question not attempted (5) srgaRa e

19. If the area of one face of a cube is 1.5 times of 19: AT 99 & Uh BaAd &I AFPel, 34 BaAd B
the perimeter of that face (in value), then the qfRATg &1 1.5 g (A #H), @ "9 BT A
volume of the cube is - -
(1) 512 unit (2) 312 unit (1_) 512 5978 (2) 312 g1
(3) 144 unit (4) 216 unit 3 () 144 5312 (4) 216 g1
(5) Question not attempted oY (5) srgaRa g

20. The radius and slant height of a right circular  20. & efgeig g & B IR fifle Sa© &1
cone are in the ratio of 4:7. If its curved surface IUE 4:7 2| IR THHT 9B Y A6
area is 792 cm?, then its radius is — (Use n=%) 792 T |A B, @A ogwH Brow 7o
(1) 3cm (2 9cm ("=§WW""—Q’)
@) 12 cm @) 6cm (1) 39 (2) 95
(5) Question not attempted b g ULy

(5) IR a=
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21- If o, B are the zeroes of the polynomial ~ 21- fg ¢ B 98T f(x) =2x*+5x +k & IS B
f(x) = 2x> + 5x + k and satisfies the relation q T a2 +B2 = 24_1 _of B T P &,
af+p?% = %1- ~ af, then the value of k is - T
M -2 @ 2 Ty () -2 % ame
3 -3 @ 3 ;’3'-5 3) -3 @) 3
(5) Question not attempted (5) IgRd U=

- 22. Three distributions A, B, C are as follows - 22. A,B,C A9 O 39 UoR & —
AP 34852, 8 Avd 307:1,3:23
B-7.5/9.12,'5,3,8 B:7=5.,9.12.5:3:8
C:4,4,11,7,2,3,4 Gotel Ldda.q,
Which one of the following statement is correct? sifes 3 w1 s Send el oe
(1) Median of B = Mode of A (1) B AfEPT = AT TgTH
(2) Mean of A = Mode of C (2) A®T g = CPT TP
(3) Mean, Median and Mode of A are equal (3) AT Az, AT SR Tged R |
(4) Mean of C = Median of B (4) CPpT AR = BB HifeaDT
(5) Question not attempted () rgaRa g

23. Twelve solid spheres of the same size are made ~ 23- U% I T & Joi= BT YR AT 2 WAL oIl
by melting a solid metallic cylinder of base $AE 16 WAL B, B g 994 PR &
diameter 2 cm and height 16 cm. The diameter 12 S Tl 9910 9T 8 | UAd el Bl T
of each sphere is - E =
(1) 3cm (2) 4cm (1) 33| (2 4%

B e @) 2 cm (3) 1374, @) 23|
(5) Question not attempted (5) Srg<IRd W :

24. If the zeroes of the polynomial x> + (a+1) x +b 24 7T 9guT x>+ (a+1) x + b D TS 2 AT -3
are 2 and -3, then - g, af —

(1) a=-2, b=-1 (2 a=0,b=-6 (1) a=-2,b=-1 (2) a=0,b=-6
() a=0,b=-1 (4) a=2,b=-6 () a=0,b=-1 (4) a=2,b=-6
(5) Question not attempted (5) IrgIRa T

25. Data 6, 7, x-2, x, 18, 20 are written in ascending 25 aif@el 6,7, x-2, x, 18, 20 BT ITRIEY 7 F foran
order. If median of these data is 16, then x is T 2| Ife 39 IMibel B ARGt 16 B, T x
equal to - PER T —

(1 11 () 17 (M 11 () 17
@) 13 (@) 15 (3) 13 @ 15
(5) Question not attempted (5) srgaRa W
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26.

27.

28.

29.

30.

frrafoRed # & @81 fadm -y 8 —

(1) = — T : (2) 3T — ST
(3) Ziaprof — ol (4) = — &

(5) srgaRa e '
freferRaa # &1 ‘o’ gy 9 T o 81 § —

(1) A" (2) gz

(3) ¥ (@ﬁTﬁFﬁH

(5) srgaRa we

Frferfan & W frw Rided @ o o Tg &7

(1) 3fcRTeT, IfTAT™ (2) THicpY, B
(3) B, Bacu @) Brad, @R
(5) SR e

frafafad & 9 sl ot o & fR=h a1ef @1 gfe | s fasey & —

(1) Constituent — HESH (2) Consistency — el
(3) Conservation — R&0T (4) Confiscation — 7ferExoT
(5) arg<iRd we

f=ferRad # Ffeyqol dR—fowwg & —

iy

() s = we + A 2) gremg = amg + 7

@) aresTeT = I + BRA @) R = g + srgaf
(5) argiRa g

OA-’:‘ ‘ : Page 7 of 24



31. Choose the correct translation of the phrase given -

‘Absolve from liability’

(1) sIRRAT BT HF BT (2) TR & qfw
() " ¥ gfp (4) faudi uRfRefa
() Question not attempted

32. Select a suitable determiner to fill in the blank -

I've written to .............. candidates who have registered for the post.
(1) every (2) each
(3 all (4) more

(5) Question not attempted
33. Select the correct form of the tense from the verbs given in the brackets -
Very unwillingly he (turn) down the sound of the TV and (go) to answer the door bell.
(1) turned, went (2) turning, went
(3) turns, go (4) turned, go
(5) Question not attempted

34. Choose the correct prepositions to fill in the blanks -

The forest department has planted trees .................... the side i iiga L all highways. -
(1) on, by (2) to, across
(3) at, in (4) along, of
(5) Question not attempted e
35. Choose the correct Antonym of obtuse. 1
(1) round (2) intelligent
(3) full (4) perfect

(5) Question not attempted

OA - ':’ - Page 8 of 24



ST g1 2025-26 B = id T DI 38T

36. Under Rajasthan Budget 2025-26 to take the 36

state further ahead in the field of renewable ol B 85 # 3R A o o & fou Al &

energy, how much energy production through & wraE & 9§ 2025-26 3§ FraA ol Seare

the private sector 1s proposed to start in the year ; '

2025267 o Ipule sl tislidel o

(1) 1GW (2) 10 GW (1) 1GW (2 I0GW

3) 100 MW @ 100 GW (3) 100 MW (4) 100 GW

(5) Question not attempted (8) SrgaiRey oo ‘

37. Consider the following statements about 37- ‘[ ol & IR # fFfoRad duHl R =

‘Ajoo Gooja’ - P —

(i) ‘Ajoo Gooja’ children’s festival was held on (i) ‘3me] eI e wiedd 22-23 BRAR)
February 22-23, 2025, in Bikaner of 2025 I GRAE & diHHR H ImAifra
Rajasthan. . foor T

(ii) The ‘Ajoo Gooja’ children’s festival was (i) ‘3o e Rregd wRega @1 meH
organized by the Rajasthani Language, RISTRITHT 19T, Hifecy aﬁq -\q@% EAER]
Literature and Culture Academy. g foar )

Which of the statement/s given above is/are R fag Ty DU/ Al A | Elﬁ”'THT/ | wEl

correct? 8/%?

(1) Neither (i) nor (ii) (2) (i) only i M 3O & ) @ )b

(3) (ii) only (@) Both (i) and (i) frygs @) () F 4) (i) SR (if) =TT

(5) Question not attempted (8) srgaRa we

38. Which faculty member of which institute of 38 9§ 2025 & forv WRdY W=y fasi s

Rajasthan has been awarded the INSA Associate (3ME.UA.4.N.) ERT IO & b TR &

Fellowship (IAF) by the Indian National Science fouw dbrg Aew @ RSO S

Academy (INSA) for the year 2025 for his R UIEH Toradn FEE 9F B wHee o

outstanding research contribution in IPE Y IREE B fU INSA K’W

understanding the neuronal protein quality B (IAF) &1 gREhR fear 87

control mechanisms in neurodegenerative () wReE il HIE, SEgR @l

diseases? : Sf. gaikar s

(1) Dr. Sucharita Dey, Indian Institute of 2 9reiE dEfel E@RE, SR @

- Technology, Jodhpur : o, 3fde s

(2) Prof. Amit Mishra, Indian Institute of (@) et AR YA HRIH, TR @
Technology, Jodhpur Sf. By R

(3) Dr. Kuldeep Singh, AIIMS, Jodhpur (4) aRgar wRA™ 3“{{15?“‘*7 BRI Gﬁﬂg‘\’ D

(4) Dr. S.S. Agarwal, ATIMS, Jodhpur SI. TH.0H. 3dEra

(5) Question not attempted (5) srgaRa ueH
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39. Consider the following statements —

(1) In March 2025, Professor Abhay Karandikar
took over the charge of the CEO of
‘Anusandhar_l National Research Foundation’
(ANRF). '

(i1) ANRF will act as an apex body to give high-
level  strategic  suggestions regarding

scientific research in the country as per

recommendations of the National Education

Policy (NEP).

Which of the statement/s given above is/are
correct?
(1) (i) only

(3) (ii) only

(2) Neither (i) nor (ii)
(4) Both (i) and (ii)
(5) Question not attempted

40. On 5 March 2025, the first production lot of
32-bit microprocessors VIKRAM3201 and

KALPANA3201  developed for  space

39. foaforRad domT W faR & —

(i) ATd 2025 ¥ YIGHR T HREIHR 7 ‘ST
NI NN BSOSy (TTHIRYG) B
A BT BRITR G |

(i) TEOIRTS T R AR (@) @
RyoBTiRell o SgaR <% & A5 Srgau™
& Weg H ST Wi wHifie gena 3|
@ foy Te o (o) Pram 3 w7 §
BRI BT |

SR QU MY $UF /A H & HIdr/H T8l

T/E?

(1) () ®aa (2) 5 91 ()77 & (i)
() (i) Baa (4) () 3iR (i) a=f
(5) 3rxiRe U

40. 591Ef 2025 BT JATRE AN & forg sl
32-fdc  AHuRRl fasE 3201 @ik
B 3201 @ TG B Ugcll WY FERN )

applications were handed over to ISRO. Iy T

Consider the following statements in context of 39 daed # AfeRad soAl R AR #ife

these and choose the correct option — g ger fAdey Hﬁ-q i

Statement A - These microprocessors were gk BT A - T AISHIUNRI &I T 4T,
designed and developed by ;.;H;IE.E TSNS & eI ¥ SE- & fawH
Vikram Sarabhai Space Centre ARMTE 3AReT dg gRT 9184 &R
of ISRO in collaboration with e frar 11T a7

i SCL, Chandigarh.

Statement B - VIKRAM?3201 is the first fully
“Make-in-India” 32-bit
MiCroprocessor.

Statement C - KALPANA3201 is a 32-bit

SPARC V8 RISC microprocessor.

(1) Only statements A and B are true :

(2) Only statements A and C are true

(3) Only statements B and C are true

(4) All the three statements A, B and C are true

(5) Question not attempted

%9 B — fa%H3201 g2 guiaan
“Hp—ga—sfear’ 32-f4e
ASHIUTHER & |

FY9 C — HeUA13201 U 32-fe @i 18

R3S U], AISHIUIIEN 2 |
(1) Bael FATANR B ¥ &

(2) g FITAFR C 99 &
(3) gt HFUYTB AR C 9T &
(4) = P9I A,B 3R C 9 &

(8) IR u=A

OA -
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41. Who was sworn in as the Prime Minister of  41- #/d, 2025 # b &eT & Ue=HAT & w9 H

Canada in March, 2025? a2y fes e?

(1) Dominic LeBlanc (2) Bill Blair (1) sifafa® o (2) 9 <R

(3) Terry Duguid (4) Mark Carney (3) < gIzs (4) 71 P

(5) Question not attempted (5) eﬂﬂﬂﬁﬁ ECT

42. Consider the following statements — 42. ffafad doFT TR faar &Y —

(i) In February 2025, the Ministry of AYUSH (i) BREY 2025 ¥, AW HATT A ST &
conferred the ‘National Dhanvantari g T d' 3R oge 9uR Mifde
Ayurveda Award’ to Sameer Govind SRR B IS gEal mde RGN
Jamadagni, a renowned Nadi Vaidya and Fiy:  TeH o |
author from Rajasthan. B - (i) = U YR U=, HIE gaaR @ i

(ii) He received a citation, a trophy featuring the Tl T 2 SR 10 T T BT ABE TEHR
Statue of lord Dhanvantari, and a cash prize B ,

(_)fﬂOLakh' , g SR AU MY HUF /BT H W DI /H TE

Which of the statement/s given above is/are 8 /%

correct? i

(1) (i) only @) (i) only ) @) P @) (i) Pt

(3) Neither (i) nor (i) (4) Both (i) and (ii) @ TG @ @R @)

(5) Question not attempted () srgaRa o

43. Consider the following statements regarding 43- @1 goic 2025-26 H URAT] SHull & IR H

Nuclear power in Union Budget 2025-26 — fA=fefRag =i R faar &9 —

(A) Recognizing nuclear power as a critical (A) Solt GRel R Rewar urg &= & forw
component for achieving energy security and URHTY] Holl B U HeeaqUl Hed B HU
sustainability, the  Government has AT oY §Y TSR 3 Rl ara @ fore
in.trO(.iuced the Nuclear Energy Mission for TR 1 fr ST Y 2

‘(B)V'Il'll(ls:t(]::::rtl.ment is actively expanding its (B)EWR o e W)
nuclear energy sector by developing Bharat P o Sl S S

&30 T fasr $R Yl & | LUR3IR. 440 MW
Small Reactors (BSRs). BSRs are 440 MW
Pressurized Heavy Water Reactors (PHWRs) bl 'cﬂﬁ' I el RO
with a proven safety and performance record. (@Qﬂ@?«’{&ﬂ:’) 8, o1 T T e

Select the correct option - SR T Rfe 7 |

(1) Both the statements (A) and (B) are not wel fawen o1 Eﬁg;@ A
correct (1) ST (A) 7T (B) [ €

(2) Both the statements (A) and (B) are correct (2) FHU (A) TT (B) 1 LI &

(3) Only the statement (A) is correct (3) Hacl HUF (A) B 8T ©

(4) Only the statement (B) is correct (4) ®aaT HUF (B) B FEl 8

(5) Question not attempted (5) argaRa ue
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44. Which of the following statements is not correct

about “Khelo India Para Games 2025”7

(i) It was the 3 edition of the Khelo India

Para Games, held from 20-27 March 2025
in New Delhi. :

(ii) The ‘Snmow Leopard’ was the Official
Mascot of the Khelo India Para Games
2025.

(iii) It held events in para archery, para athletics,
para badminton, para powerlifting, para
shooting and para table tennis.

Choose the correct option-

(1) (i) and (ii) only (2) (ii) and (iii) only

(3) (i), (ii) and (iii) (4) (i) and (iii) only

(5) Question not attempted

45. While replying to the discussion on the Finance
and Appropriation Bill (budget 2025-26) in the
Rajasthan Legislative Assembly, in which

- district did the Chief Minister announce the
construction of a panorama of Sant Sadaram Ji
Mabharaj?
(1) Barmer (2) Jaisalmer

(3) Bharatpur (4) Banswara

(5) Question not attempted

46. A force of constant magnitude is applied on a

particle which is always perpendicular to the

velocity of the particle. The motion of the

particle take place in a plane. Which

44. el gfear ORy R 20257 & I | fEferRad
H | P HUF el T2l 87
() T8 @Well sfEar I1 =g BT AT HRBROT
o, ST 20-27 #AId 2025 &% s flcenl H
amanfora fasar o |
(i) =1 ue wWenr gfEAr IR WA 2025 @
JAMABTRS FPHBR AT |
(i) 398 91 dReeh, R vyefedw, TN
29a1 2 @ T Y |
|8 fAded g+ —
(1) Baa (i) 3R (i)
(3) (i), (i) 3R (i)
(5) SR we
45. JrorerH faumer # faw ud fafvanr fEas

(a5TC 2025-26) TR =@l BT STAE < Y JEHA
F 5w o § Fa HeR™ St #weR1S &1 39RA
AT HY O BI?

(2) Paer (ii) 3R (iii)
(@) Faar (i) 3R (iii)

(1) TR (2) SIEPR
(3) WRagR (4) qrgarsT
(5) argaRa weA

46. U U UR IR YR &7 U gl T SIrdl
%‘,_a‘rzﬁwa%aﬂzﬁgﬁwa'aaaa‘m%‘lw
@ Y UH dd # g1 39 A H el

quantity/quantities will remain constant in this <1 /IR R BT
SNt (1) &, @R 3R AR Sl
(1) Velocity, acceleration and kinetic ener
e & (2) dad TTfae Sl
(2) Only kinetic energy
(3) Velocity and kinetic energy @) & R ST Ho
(4) Only acceleration (4) Hae @Rl
(5) Question not attempted (8) arRa we
OA - % Page 12 of 24
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47.

49.

50.

When Hormone Adrenaline is secreted, then -

(1) the heart beats slowly

(2) the blood flow in skeletal muscles reduces

(3) the breathing rate decreases

(4) the blood to the digestive system and skin is
reduced

(5) Question not attempted

The decomposition of vegetable matter into
compost is an example of - L
e

(1) Ectothermic Reaction
(2) Endothermic Reaction
(3) Isothermal Reaction
(4) Exothermic Reaction

(5) Question not attempted

The substance present in the cells of cork which
makes them impervious to gases and water is -
(1) Cellular debris

(2) Cutin

(3) Suberin

(4) Lipoprotein

(5) Question not attempted

A person standing on the floor of an elevator
drop a coin. The coin reaches the floor of the
elevator in a time t; when the elevator is
stationary and in time t when it is moving with
uniform speed, then -

(1) The relation between t; and t» depends on
whether lift is moving upward or downward.

@ u>t

@) <t

4 =t

(5) Question not attempted

47-@%?@?@?@%@31%‘,?@{—

48.

49.

50.

(1) geg N gsdar &

(2) Borar URRT F SR &7 98@ FH & S
2

(3) T9ET X PH B S ®

(@) uree o7 3R @ # BRR FH & I ©

(5) 3=k uZH

Me—vferdl (Tfa go) & faafea g@x

HURE g1 SEIEX0 & —

(1) SIS SIffhHaAT &1

(2) oot srfafehar &1

(3) eI ifafesar @

(4) Sored ifaferar &

(5) rgaIRa ueA

Bfd PIBIA H SURYT yart o 5= i 7

T & ford emEr g ® —

(1) ®IRETT Foer (STRw)

@ =T

(3) gaRka

(4) feramifes

(5) araIRa W

T Afdd fode & B IR W1 BbR T Ridel

firrar 21 Riger foe & ®of w 979 4 ¥

ugaar &, 99 foue Rer Bt 2 ok w9 nH -

9 ¥ UHaH a1 | ool W&l By 8, ar —

M 43R @ 99 Feg 39 919 W) R $=ar
2 f fore IR @1 IR o1 @ ® a1 AN
B AR |

(2 ti>t2

@) i<t

4 =t

(5) TR U

OA - ¥
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31. Match List-I with List-II and select the correct

answer by using the code given below the lists -
List-I

(Articles)

(A) 326

B) 327

(C) 328

(D) 329
List-1I
(Contents)

(i) Power of Parliament to make provision with
respect to elections to Legislatures

(ii) Bar to interference by courts in electoral
matters

(iii) Elections to the House of the People and to
the Legislative Assemblies of states to be on
the basis of adult suffrage

(iv) Power of Legislature of a State to make
provision with respect to elections to such
Legislature

Code -

(1) (A)-(i), (B)-(ii), (C)-(iv), (D)-(iii)

(@) (A)-(iii), (B)-(i), (C)-(iv), (D)-(ii)

(3) (A)-(iii), (B)-(iv), (C)-(i), (D)-(ii)

@) (A)-(ii), (B)-(1), (C)-(iii), (D)-(iv)

(5) Question not attempted

51.

2 (B)

-1 B A1 ¥ Fafera & aan gt &
4R Ry 17 F & UG FRS GE SN
Tt -

A1

(erges

326
327
328
329

5 Gl |
fva-awg)
(i) fm—vsal & fou fafel @ ddu 3§
IUeY HA DI GEG BY Ffd .
fatem 9= 9mel § el @
TR BT goid
e T iR Il @ faue gl @
fo faatemi &1 9% TaReR & MR
R BET
el w1 @ fum—dsa & fon fafasi
& HeY H SUSH YA B 99 -
CARIIGS]
m‘\z =
(1) (A)-(), (B)-(ii), (C)-(iv), (D)-(iii)
(2) (A)-(iii), (B)-(i), (C)-(iv), (D)-(ii)
() (A)-(iii), (B)-(iv), (C)-(), (D)-(ii)
(4) (A)-(ii), (B)-(i), (C)-(iii), (D)-(iv)
(5) rgaiRa g

(A)

©
(D)

(ii)

(iii)

(iv)

52. Under which of the following Articles of the 52 ¥Rd @ Wfaer & frefoRaa § & fbw areoe
Constitution of India, ‘No criminal proceedings @ Ia, Igufd @ favg SEP! UgE @
whatsoever shall be instituted or continued SR & <grareg # & 0 yor & <ifes
against the President in any Court during his Friarel dRera 781 @1 seft a1 @] e =
term of office’? ST ?

(1) 361 -A 2) 361 (2) 1) 361-% 2) 361 (2)
(3) 361 -B (4) 361 (4) @) 361 -7 (4) 361 (4)
(5) Question not attempted (8) IrgaiRe w2
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53. Consider the following statements regarding 53 9Rd ¥ HE™ = oRye & wdla Frefie

Union Council of Ministers - FAT W) AR Pifsg —

(D A person who is not a member of either (1) P Aafed ol G99 & aF1 A 4 fHd uh
House of Parliament can be appointed a e BT dad 9 & $9 HA e fea
Minister. But if he does not get a seat in ST HhaT & | R Ak g8 w3 Fgad g
either house within six consecutive months % 96 gfe @1 aig 9 e} ©: 919
from the date of his appointment -as F ey & W eFr 7 9 ) off "=
Minister, he ceases to be a Minister. HT eI F 99 9 oI 98 HIT T8l ¥edi |

(I) However, he can be appointed as Minister (D). 9f HHe 9 & ®9 H g%-{ SH B
again when he is elected as a member of ' g o9 R 9§ 73 & w9 H Fgea B
Parliament. The Minister has the right to ST GhdT € | 747 &7 g1 91 § Sufkerd
attend both the Houses and participate in e 3R SHBT RO H 9N oF @l
their proceedings but cannot vote in the IRPR & W I8 SH WA ¥ a9 98 ©
House of which he is not a member. Hhar forgeT 98 9 T8 & |

Choose the correct option - ; 8 APy &1 999 PiTe —

(1) Only (I) is correct. (1) Baar (1) ¥ 2|

(2) Both (I) and (II) are correct. (2 (nTd () S HE &

(3) Neither (I) nor (II) is correct. (3) 7 a7 (DTE (D) FET2 |

(4) Only (II) is correct. (4) Baa (I) 9T 7 |

(5) Question not attempted (5) arg=iRa e

54. Under which of the following Articles of the 54 WRd @& Wfdu @ frifea & & 5w s

Constitution of India, “No judgement shall be @ ormid “ITEdd R URE Rt @l

delivered by the Supreme Court save in open ' : :

) JraTerg | €1 AT, el a8l Y

(1) 145 4) (2 145 (3) (1) 145 (4) (2) 145 (3)

(3) 145 (5) (4) 145 (2) (3) 145 (5) (4) 145 (2)

(5) Question not attempted (8) 3rgailRa gz

55. Under which of the following circumstances can ~ 55- fy=ifaiRaa # & foa uRRIfa 4 a1 &1
the Speaker of the House of the People lose his 3egeT 3YUAT HIABIe R B ¥ Ugol U+ Ug
position before completing the full term? U T8l g7 X8 ghdl?

(i) If he ceases to be a member of the House of (i) ufe g8 <lie TN BT o Tl ¥§ ol # |
the People. (i) I o w1 weT § SuRerd SR wdqeH

(i) If the House of the People passes aEL’:—; . A 9Tl ol el & 9gAd | ITEE Bl

resolution for the Speaker’s removal by a ¥ %% e BT U gikE Bl B
- majority of the total number of members of

(iii) TR TITHE & ASH A MUAT dgHd @I &l

the House present and voting. 3
(iii) }I;fot::e ruling party loses its majority in the (iv) TR e e T
(iv) If the President dismisses the Speaker. wel fdweu g+ —
Select the correct option - ) ®aa (i), (i) 3R (iii) (2 Eﬁ?m’_(i) 3 (ii)
(3) (i), (ii), (iii) and (iv) (4) (i) only (5) orRe we

(5) Question not attempted
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56. The 80 cm Isohyet do not pass through which of
the following districts?

(2) Bundi

(4) Jhalawar

(1) Banswara
(3) Pratapgarh
(5) Question not attempted

57. Road density in Rajasthan as on December 2024
was -
(1) 86.22 km/100 square km.
(2) 72.66 km/100 square km.
(3) 92.66 km/100 square km.
(4) 81.21 km/100 square km.
(5) Question not attempted

58. Match List-1 with List-1I and select the correct
answer from the code given below -

(River) (Tributary)
(a) Mahi (i) Niwaj River
(b) Kali Sindh (ii) Gambhiri River
(c) Parbati (iii) Anas River
(d) Bedach (iv) Aheli River
Code -

(1 (a)-(ii), (b)-(), (c)-(iii), (d)-(iv)
() (a)-(iii), (b)-(iv), (c)-(1), (d)-(ii)
@) (a)-(iii), (b)-(), (c)-(iv), (d)-(ii)
(@) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(1)
() Question not attempted
99. Arrange the following peaks of Aravalli range in

ascending order according to their heights - .

(A) Dhoniya Dungar

(B) Rishikesh I
(C) Kamalnath i:l-i
(D) Raghunathgarh

(1) (C), (B), (D), (A)
- () (D), (A),(B), (O

@) (A). (©), (B), (D)
@) (B), (A), (©), (D)

(5) Question not attempted

56.

57.

58.

59.

80 W o wHawt gy fA=faRag d§ ¥ faa

Rt ¥ 7 TR 27

(1) gierareT @ &

(3) FaTTE (4) TTcTaTS
(5) IR T |

o H fAR—2024 H HSd T o —
(1) 86.22 f&A /100 7 fAL

(2) 72.66 f5.A. /100 Tf b A, i
(3) 92.66 f&A. /100 a7 L.
(4) 81.21 f&A. /100 o1 &L

(5) 3rgailRa U

A1 B FGE-11 & | gaferd X a1 A

A T qE ¥ § W& SR BT AT B —
-1 5 i |
(7<) (wEr® )

(a) HIET (i) Frars =<t

(b) BTeil R (ii) TR T

ORIEG (iii) 3T Tar

(d) 9% (iv) 3rgel =Y

az\?'_

(1 (a)-(id), (b)-(1), (c)-(iii), (d)-(iv)

(2) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

() (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

(4) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)

(5) SraiRd ue

IRTGCH sEe o ffeRaa aifedl &1 37!
SIS B IFER IRE A H  FaRerd
HITY —

(A) &ifrr §R

(B) Ff¥dmer

(C) HHATT

(D) RGTRITE

(1) (C), (B), (D), (A)
() (D), (A), (B), (C)

(5) srgaiRa wed

(2) (A), (C), (B), (D)
(@) (B), (A), (C), (D)

OA - ¥
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60.

61.

62.

63.

Which of the following statement is not correct?

(1) Rajasthan is situated between 69°30' to
78°17" west longitude.

(2) The Tropic of Cancer passes through two
districts of Rajasthan.

(3) Rajasthan has greater territorial expanse than
countries like Italy, Norway, England.

(4) The states of Haryana and Punjab are located
in the north-east of Rajasthan.

(5) Question not attempted

Which of the following are not breeds of sheep?

(1) Magra and Kheri

(2) Pugal and Nali

(3) Chokla and Sonadi

(4) Jamnapuri and Malvi
(5) Question not attempted

Duriﬁg the Census 2001-2011, what was the

change in the density of population of
Rajasthan?

(1) +35 (2) +28

(3) +38 4) -32

(5) Question not attempted

The correct descending order of districts in terms

of wheat production under Rabi Crop in 2022-23

in Rajasthan was - '

(1) Ganganagar - Hanumangarh - Chittorgarh -
Bundi

(2) Bundi - Chittorgarh -
Hanumangarh

Ganganagar -

(3) Hanumangarh - Ganganagar - Bundi -
Chittorgarh |

(4) Hanumangarh - Ganganagar - Chittorgarh -
Bundi

(5) Question not attempted

60.

61.

= .8 S 5
I =

62.

63.

f=folad & & ST B wE T8 27

(1) o= 69°30' 9 78°17' Ui Q=R &
7 Rerd 2

(2) T YT ISR B a1 Rl & B o
=

(3) <roiRere, gcell, Afd, $Tivs o Sui 9
s &= faRdR XEar 2|

(8) ISE @ ITR-gd § BRI Td gWE
5T Rerd 2 |

(5) SrgiRa U

frafoRag & 9 S 943 &) A% T8I 27

(1) TRT 3R &9

(2) Tt iR el

(3) =rper 3R AT

(@) SIS SR Arerdy

(5) srgIRa ue

2001-2011 SIFTOET & SRM, IoTRIE &

ST g9 # fhar aRadaq arm

(1) +35 (2) +28
(3) +38 (4) 32
(5) argaia wed

G H G BEA 2022-23 & I

% Sared @ gfte | Rl &1 T e ®9

e :

() TR - EgETe — RRlsTe —
kSl

2 & — frilsTe — TR — AT

(@) FFAFTE — TR — & ~ RrdleTe

@) e — WIAR - RRlsTe —
kol

(5) srgailRa e

OA . %
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64. Which one of the following (Minerals-Mining - 64- fo=foiea (@fioi—a=m &=) T # @F=n

Area) pair is not correctly matchéd? - _\ﬂ_aﬁ“‘ﬁ el &7

(1) Tron-ore - Nat ki Neri M Fﬁg_m — T B A

(2) Lead & Zinc - Agucha-Gulabpura (2) T SR ST — SR ATaRT

(3) Copper - Kho-Dariba (3) dfar — Wi—adar

(4) Manganese - Kalakhunta (4) FIT — BremEer

(5) Question not attempted (5) 3rgiRea us

65. Match List-I with List-I and select the correct ~ 65- Fi—1 3k G-I # FAfera axa 1 R

answer from the code given below - T HEl H ¥ e SR BT ThT BIY —
(Cement Plant) ~ (District) (@i =) (Rrem)

(A) Shree Ram Cement (i) Kota (A) 3R A< (i) drer

(B) ACC Cement (i) Chittorgarh (B) THRT e " (i) FrdieTTe

(C) Aditya Cement (iii) Bundi (C) anfewy ¥ (iii) T

(D) J.K. Laxmi Cement (iv) Sirohi (D) 9.3, <l e (iv) RRIET

Code - oE -

() (A)-(iii), (B)-(iv), (C)-(i), (D)-(ii) (1) (A)-(iii), (B)-(iv), (O)-(i), (D)-(ii)
(2 (A)-(iv), (B)-(ii), (C)-(iii), (D)-(i) - 2 (A)-(iv), (B)-(ii), (O)-(iii), (D)-(i)
(3) (A)-(0), B)-(iii), (C)-(ii), (D)-(iv) @) (A)-@), (B)-(iii), (C)-(ii), (D)-(iv)

(@) (A)-Gi), (B)-(iii), (C)-(iv), (D)-(i) (4) (A)-(ii), (B)-(iii), (C)-(iv), (D)-(i)
(5) Question not attempted (5) srgaRa ge=

66. Jiya lost her legs in an accident. She is now  66. /T % T®H gHeAr ¥ e IR W@y fRv | 39 98

trying to copy the behaviour of Avani Lekhara, ARG g% I AN AERT B FaER Pl
an Indian rifle shooter, who was go.ld medalist in el B B IR B & 2, S Iifreuas
Paralympics 2024. What type of adjustment 2024 % ¥qvi ygs faorar off | frr 1 fre yaR
mechanism is adopted by Jiya? P AR i SfoTg 87
(1) Rationalization  (2) Identification (1) siifer <= (2). ATSTHIBROT
@) P TOJ'eCtiOH. (4) Reaction formation (3) memor (4) wfcrfshar fermfor
(5) Question not attempted (5) SrgalRa ue
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67. Which of the following statements are not
correct with reference to physical development
of adolescents?

(a) Inboys, adolescence may begin a year or two

| earlier than in girls.

(b) In adolescence the size of larynx is similar in
boys and girls.

(c) The secretion of sebdceous gland increases
in adolescence.

(d) Boys and girls reach reproductive maturity
in adolescence.

Choose the correct code - _

(1) (a) & (d) (2) (a) & (b)

(3) (b) & (¢) 4 (c) & (d)

(3) Question not attempted

68. Match the following basic functions of

educational management with their meaning -

(a) Planning (i) Establishing formal
structure of authority
(b) Directing (i1) Interrelating various

parts of work
(c) Coordinating (1i1) Broad outlining of
things to be done
(d) Organizing (iv) Issuing specific orders
and instructions

Choose the correct code -

(1) (@)-(iv), (B-(iii), (c)-(0), (d)-(ii)
@) (a)-(ib), (b)-(0), (c)-(iv), (d)-(iii)
@) (@)-(iii), (b)-(iv), (c)-(ii), (d)-(i)
@) (@)-(), (b)-(ii), (c)-(iii), (d)~(iv)

(5) Question not attempted

T

| 67. fruiRt B RS Rew 3 T § PR

¥ & B BT T R 8?
(e1) TTsl H fheiRmawen, arsfeal @ gomm #
Ue AT &I 99 Uscl Y 8l Al 7 |
(@) fhemRTERen § WRIF &1 MHR ASHI 3R
aSfHal # T B 2 |
(7) freiRmeRen & garE (RraRem) 3fyr @
19 9§ ST 2 |
(@) @ SR orsfdhal feoRmawer # worH
uRYFIdT a% UET O B |
el fE BT FUT DIVIY —
(M) @) @ () (2) (&) wF (3)
@) @ v @ @ (¥ v9 ()
(5) arg=iRa U
68. difers UevE & IMURYT STl Bl S 3t B
AT gAferd PIRTT —
(@1) fraror (i) IIfE@HRoT B foaRe
G WU He

@) fEm (i) & & A= 9 @1
faHaftT BT

(0) =g (iii) fby ST arel st @
I HINET AT

(]) oA (iv) faf¥re smeer afix
forder S e

HEl e BT Tgq DI —

(1) @)—Gv), @—(ii), @)@, (@i
@ (@)—Gi), @—), @)—Gv), @)—ii)
@) @)—(ii), @)—Gv), (@)—Gi), &)
@ @G, @—Gi), (@)-(iii), (&)—Gv)
(5) Srg=iRa wed
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69. As per (amended) the ‘Right of Children to Free ~ 69 ‘fi:3[ed ik afar ara Rrem MR =W,
and Compulsory Education Rules, 2010°, the 2010° (qgﬁfgﬁ) i AR TL  AARHR
constitution of National Advisory Council GRe Bt e BYEiR & R v
should consist of -

(1) one Chairperson and sixteen members (1) T St SR WeTe e
(2) one Chairperson and twelve members (@) TP e SR ARE W
(3) one Chairperson and fourteen members () T srezer SR e T
(4) one Chairperson and eighteen members ET (4) TP e R FORE W
(5) Question not attempted T (8) SrgaiRer oo

70. Match the following Chapters of the ‘Right 70 f:g[ew va aifard qrer R sffer it
of Children to Free and Compulsory Education 2009 & f=fafRag el & <9 9 9
Act, 2009” with their names - —ﬁqﬁ:ﬁ P —

Name of Chapters gt & A
(a) Responsibilities of Schools and Teachers (@) freremt sk Rt & SoRafE
(b) Duties of appropriate Government, Local (@ wRT wor, ©T aRes 3R
Authority and Parents AT 3 P
(c) Protection of right of children () B e
(d) Curriculum and completion of elementary :
education i Sl o X
Serial No. of Chapters 1 GTFIT ;

W I AT B HH HEAT

(i) I (i A

(i) IV (- I

) ¥ (iii) IV

) VI (iv) V

Choose the correct code - (vl v

() @-(v). (0)-), (©)-(iv), (d)-(ii) Iy

@ @-G), ()-(i), (©-(i), (@) B B ey
@) @N)-@). @i, @)—Gi), @)—3v)

@) (a)-(ii), (b)-(v), (c)-(iii), (d)-(i) 3 @N)—(Gi), @)—Gv), [@)—ii), @)—q)

@) (a)-(iii), (b)-(ii), (©)-(v), (d)-(iv) @ @)GiD), @G, @-w). @-i1v)

(5) Question not attempted (5) argaRa e
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71. Which of the following characteristics are 71 fy=foRag # & B\l RAdwary fraiRmazer ¥

related with cognitive development in
adolescence?

(a) Hypothetical-deductive reasoning
(b) Imaginary audience

(c) Personal fable

(d) Object Permanence

Choose the correct code -

(1) (b) & (d) ) (a) & (d)

@) (@), (), ()& (d) () (a), (b) & (c)

(5) Question not attempted

AeHTeTS AP | daferd 87

@) uREeITHS AHATHS arfbedr

@) waRe e

(9) aafdard sen

(8) =g R

HEl B B T DI —

(1) @) Ta () (2) (31) vd (1)

) @) @. (@) @ @) @ @) @@ @

(5) IR U

72. Teachers have given some suggestions for 72 Ryerei 71 fener GuR & foy vumrR o1 6B
- school improvement to the Principal. He listens geg ey 2| 98 999 fdaRi &7 gaar g 3R
to their ideas and study them to take final ITHT TIPS D IR it fofyg
decision accordingly. This type of leadership T 2| TH YBR & qchﬁ_cﬂ FEa R -
style is known as - ) = 8 Sy @) o
(1) Bureaucratic style (2) Democratic style
(3) Delegative style - (4) Aufocratic style () Gyl et ). AR R
(5) Question not attempted (5) 3rg<IRe U=
73. Teaching material is prepared for Shiksha Vani ~ 73- Rwemmarclt wrfea &q Reor amft &1 fmi
Program - foaT ST & — .
(1) By Education colleges, under the leadership (1)- e OIED o ﬁqﬁ A R mETETer
of DIET &
(2) By DIET and other institutions, under the () TEHEIRE. (SCERT) & iﬁ!ﬁ q s1ge
leadership of SCERT (DIET) Td &= iveiait gRT
(3) By Teachers, under the leadership of open (3) e faeneral & wige H B! grr
schools 4 TIMZIRE.  (NCERT) & g ¥
(4) By SCERT, under the leadership of NCERT THH S ARE. (SCERT) ERT
(5) Question not attempted (5) araRa w3
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74. Whose responsibility is to supervise the 74 Ryem REm td uREm W (@) @
academic work of the ‘District Institute JPIEHAD BT BT YA HeAT UG IfdD
of Education and Training’ (DIET) and provide HATes Uee B BT B fhaw 27
educational guidance? (1) TR i : w wRE
(1) Rajasthan State Institute of Educational :
Research and Trainin
: (2) oo " R 9
(2) Rajasthan Board of Secondary Education
(3) IoRUE WT MU T
(3) Rajasthan State Open School
(@) ey 3% Tsdks Wl 37 a3
(4) Institute of Advance Studies in Education :
(5) 3rgailRa ued
(5) Question not attempted
75. “If the student’s mind is tired, he is unable to 75 ‘Ifq fA=mefl &1 49 &1 gIm B, A WA &I
1eaf11 even if the Ieamiﬁg -environment is ATATaNo] G‘q’ﬂ’cﬁ' G g0 W a8 A ERRCIGH
suitable.” This statement refers to which 2| U HYF deRd g AT Y fFE W
Secondary Law of Learning as stated by i @7 deffa @var 27
Thorndike? ) Rre £ e
(1) Law of Mental Set : ‘
(2) il fohar &1 M
(2) Law of Partial Activity :
(3) s &1 W
(3) Law of Assimilation
, (@) wrEwd uRada &1 fFm
(4) Law of Associative Shifting
(8) <R ge=
(5) Question not attempted
357
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Space for Rough Work /% &8 & 17 w8
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